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1. If the plane containing the point (2,1,2) and the line given by

z—-1 y-—2
3 —T—z+1

passes through the point (—1,b,1) then b =

(a) -3

MASTER

(correct)

(b) 3

(c) 2
(d) —2

(e) 1

2. The distance between the planes
2z —3y+62=6and —4x+6y— 122 =2

is equal to

(a) 1

(correct)

(b) 2
(c) 3
(d) 6
(e) 8
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3. The distance between the two lines
Li:—2z=y—3=2z—8and [:2r=1-y=8-2z

is equal to

(correct)

—~
)
g
Wl N W >
> N} ¢}

—_ — i —~
) (=) g) =

4. The surface
422 — 32 +1222+12=0

is

(a) a hyperboloid of two sheets with the y-axis as its axis (correct)
(b) a hyperboloid of two sheets with the z-axis as its axis

(c) a hyperboloid of one sheet with the z-axis as its axis

(d) a hyperboloid of one sheet with the y-axis as its axis

(e) a hyperboloid of one sheet with the z-axis as its axis
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5. An equation of the surface that consists of all points equidistant from the point
(2,2,2) and the zy-plane is

w2 =2
(a) 2= 1 o +1

IR T _ 92
w e =2 -2
© D @ty
(d) z=(z—2)*+(y—2)>+2

(e) y= (“;2)2 8 (222)2 +2

(correct)

6. The level curves of f(z,y) = !~V are

(a) hyperbolas (correct)
(b) parabolas

(c) ellipses

(d) circles

(e) lines
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(1 — sec(z? + yz))
2 2
7. lim e oty -

(z,4)—(0,0)

(a) 1 (correct)
(b) e

()0

(d) o0

(e) —o0

8 lim t n-l( Toe-dl )
. 1m a e T D) =
(z,)=(0,1) 2+ (y—1)?

(a') —g (correct)
(b) 3

(c) 0

(d) DNE

(&) -7
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9. Let f(z,y,2) =ye* +zlnz, then Zfr; for+ foz =

(a) 0
(b) =
(B) 4

T

(correct)

10. Let f(z,y) = Y, then fy(e,1) =

(a) e
(b) 1
(c) €
(d) e
(e) 0

(correct)
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11. If the radius and height of a right circular cylinder are respectively measured as
10 em and 30 em with possible errors £0.02 ¢cm and £0.04 cm, respectively, then the
error in calculating the volume of the cylinder is approximately

(a) £167cem? (correct)
(b) £187cm?
(c) £15mcm?
(d) £207 cm?
(e) £127cem?

12. If (z, y) moves from the point (2, 2) to the point (2.04, 1.98), then, using differentials,
we find that the change in z = 1/3z2 + y? is approximately

(a) 0.05 (correct)
(b) 0.04
(c) 0.03
(d) 0.02
(e) 0.06




223, Math 201, Exam II Page 7 of 10 MASTER

d
13. If zcos3y + x3y® = 3z — e, then the value of % at the point (1,0) is

(a') 2 (correct)
(b) —2
(c) 1
(d) -1
(e) 0
14. Let w = zy? + y22 + zz?, z = t2, y = t? — 2s, z = s? — 2¢. The value of %—l:- when

t=1, s=1Iis equal to

(correct)

(a) 8
(b) 4
(c) 6
(d) 2
(e) 0
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15.

16.

The directional derivative of f(z,y) = e~@+1%) at (0,0) in the direction of
v=<1,1>1is

(a) 0 (correct)

z
If the temperature at the point (z,y) on a metal plate is T(z,y) = m, the

direction of the greatest increase in heat from the point (1,-1) is

(a') <%a %> (correct)
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17. If f(z,y) = = — y?, then the tangent line to the level curve f(z,y) = 3 at point
(4,-1)is

(a) 2y=—z+2 (correct)
(b) Ty = —2¢ + 1 :
(c)y=-x+3

(d) =Ty =—-z+11

(e y=z+1

Rk O
18. The domain of the function f(z,y,2) = e is
)

(a) The set of all points lying on or outside the sphere with center at the origin and
radius 8 and are not on the zz-plane. (correct)

(b) The set of all points lying on or inside the sphere with center at the origin and
radius 8 and are not on the zz-plane.

(c) The set of all points lying on or outside the sphere with center the origin and
radius 4 and are not on the z-axis.

(d) The set of all points lying on or inside the sphere with center at the origin and
radius 4 and are not on the y-axis.

(e) The set of all points lying on or outside the sphere with center at the origin and
radius 8 and are not on the z-axis.
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19. Let f(z,y) = { g ®NFO 0)
0, (z,y) = (0,0)

Which one of the following statements is FALSE?

MASTER

(correct)

2.9)=(00)

b) f is not differentiable at (0,0)
(c) f is not continuous at (0,0)
(d) The domain of f is R

(e) f2(0,0)=0

(a)( lim f(z,y) exists
(

20. If z is defined implicitly as a differentiable function of = and y by the equation

rlny +y’z — 2z =10

(correct)

z
then a =
22 —Iny
(a) y? — 2zz
22 —Iny
(b) y? + 222
22 +Iny
(c) y? + 2zz
22—z
(d) Y2 — 2z2
y* —Iny
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